
©Copyright 11/09/2019LF-Rev00

BF46 - BF46K

1/8
ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 

INSTRUCTIONS DE MONTAGE - BAUANLEITUNG - INSTRUCCIONES 
DE MONTAJE

Flangia Specifica per borse Tanklock - Specific Carrier for Tanklock bags
Brides spécifiques pour Tanklock bagagerie souple - Tankringen für tanklock Weichtaschen

Aro específico para bolsa Tanklock - Anel específico para bolsa Tanklock
N° Descrizione-Description Caratteristiche-Features Codice-Code Quantità-Quantity

1
Supporto inferiore - Lower support 
 Support inférieur - Soporte inferior 
Untere Halterung - Suporte inferior

- GL4269V 1

2
Flangia - Support

Brides - Tankringen
Aro – Anel

- GL4270SP 1

3
Supporto Interno - Inner support
 Support interne - Soporte Interno

Innere Unterstützung - Suporte Interno
- GL4271DXSP

GL4271SXSP 2(Right; Left)

4
Vite - Screw 

Vis - Schraube
Tornillo - Parafuso

TBEI M5x45 545TBEI 2

5
Vite - Screw 

Vis - Schraube
Tornillo - Parafuso

TBEI M5x20 520TBEI 2

6
Vite - Screw 

Vis - Schraube
Tornillo - Parafuso

TBEIFN M6x10 610TBEIFN 4

7
Vite - Screw 

Vis - Schraube
Tornillo - Parafuso

TBEI M8x70 870TBEI 1

8
Vite - Screw 

Vis - Schraube
Tornillo - Parafuso

TBEI M6x30 630TBEI 1

9
Rondella - Washer
Rondelle - Scheibe
Arandela – Arruela

Foro Ø5mm 5RON 4

10
Rondella - Washer
Rondelle - Scheibe
Arandela – Arruela

Foro Ø8mm / Esterno Ø14mm 814RON 2

11
Rondella spaccata - Split washer 

Scheibe - Rondelle fendue                    
Arandela seccionada - Arruela Dentada

Foro Ø8mm Z1060 1

12

Rondella Inox - Stainless Steel Washer 
Rondelle Inox -Rostfreie Unterlegscheibe 

Aus Stahl
 Arandela Inox - Arruela Lisa De Aço Inox

Foro Ø6mm 6RONX 2

13
Rondella spaccata - Split washer 

Scheibe - Rondelle fendue                    
Arandela seccionada - Arruela Dentada

INOX/STAINLESS Foro Ø6mm 6RONSX 1

14
Distanziale - Spacer

Entretoise - Distanzstueck
Distanciador - Espaçador

Ø8,5x7 Foro 6mm C8,5L7F6T 4

15
Distanziale - Spacer

Entretoise - Distanzstueck
Distanciador - Espaçador

Ø14x10 Foro 6,5mm C14L10F6,5T 1



©Copyright 11/09/2019LF-Rev00

BF46 - BF46K

2/8
ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 

INSTRUCTIONS DE MONTAGE - BAUANLEITUNG - INSTRUCCIONES 
DE MONTAJE

Flangia Specifica per borse Tanklock - Specific Carrier for Tanklock bags
Brides spécifiques pour Tanklock bagagerie souple - Tankringen für tanklock Weichtaschen

Aro específico para bolsa Tanklock - Anel específico para bolsa Tanklock
N° Descrizione-Description Caratteristiche-Features Codice-Code Quantità-Quantity

16
Dado - Bolt - Ecrou

Mutter - Tuerca – Porca Dado Cieco M8 8DADIC 1

17
Dado - Bolt - Ecrou

Mutter - Tuerca – Porca Dado Cieco M6 6DADICX 1

18
Gomma Protettiva - Protective Rubber Pad
Protection En Caoutchouc - Schutzgummi
Goma Protectora - Borracha de proteção

- Z2352 1

19
Fascetta - Clamp
Pince - Klemme

Abrazadera - Braçadeira
- Z2413 2

20

Particolari inclusi nella borsa tanklock
Components included in the tanklock bag

Pièces inclues dans la tanklock bag
Teile inkludiert in der tancklock tasche

Componente incluído na bolsa tanklock
Despieces Incluidos bolsa tanklock

- - -

21

Componenti Originali - Original Parts
Parties Originales - Original Bauteile

Componentes Originales - Componentes 
Originais

- - -

- Il mancato rispetto da parte dell’utilizzatore delle presenti avvertenze e istruzioni comporta 
un uso improprio del prodotto e un’installazione inadeguata.

- User’s failure to comply with these warnings and instructions will result in improper use of 
the product and improper installation.

- Die Nichtbeachtung dieser Warnhinweise und Anweisungen durch den Benutzer führt zu 
einer unsachgemäßen Verwendung des Produkts und falscher Installation.

- Le non-respect de ces avertissements et instructions de la part de l’utilisateur aura pour 
conséquence une utilisation impropre du produit et une installation incorrecte.

- La falta de respeto por parte del usuario de las presentes advertencias e instrucciones 
implica un uso impropio del producto y una instalación inadecuada del producto no correctos 

por parte del usuario.
- O desrespeito das advertências e instruções por parte do usuário será considerada uso 

impróprio do produto e instalação inadequada.



©Copyright 11/09/2019LF-Rev00

BF46 - BF46K

3/8
ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 

INSTRUCTIONS DE MONTAGE - BAUANLEITUNG - INSTRUCCIONES 
DE MONTAJE

Flangia Specifica per borse Tanklock - Specific Carrier for Tanklock bags
Brides spécifiques pour Tanklock bagagerie souple - Tankringen für tanklock Weichtaschen

Aro específico para bolsa Tanklock - Anel específico para bolsa Tanklock

1 2 3

4 5 6 7 8 9

3mm / 4mm / 5mm

10mm / 13mm

10 11

12 13 14 15 16 17 18

19



©Copyright 11/09/2019LF-Rev00

BF46 - BF46K

4/8
ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 

INSTRUCTIONS DE MONTAGE - BAUANLEITUNG - INSTRUCCIONES 
DE MONTAJE

Flangia Specifica per borse Tanklock - Specific Carrier for Tanklock bags
Brides spécifiques pour Tanklock bagagerie souple - Tankringen für tanklock Weichtaschen

Aro específico para bolsa Tanklock - Anel específico para bolsa Tanklock

A

21

21

21
21

REMOVE

RIGHT SIDE

MOUNT BEHIND

B B1

3 3

N0.3 SUPPORTS MUST ALWAYS  BE MOUNT



©Copyright 11/09/2019LF-Rev00

BF46 - BF46K

5/8
ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 

INSTRUCTIONS DE MONTAGE - BAUANLEITUNG - INSTRUCCIONES 
DE MONTAJE

Flangia Specifica per borse Tanklock - Specific Carrier for Tanklock bags
Brides spécifiques pour Tanklock bagagerie souple - Tankringen für tanklock Weichtaschen

Aro específico para bolsa Tanklock - Anel específico para bolsa Tanklock

LEFT SIDE

MOUNT BEHIND

3
3

7

8
10

10

12 11 16

15 12 13 17

C

D

3



©Copyright 11/09/2019LF-Rev00

BF46 - BF46K

6/8
ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 

INSTRUCTIONS DE MONTAGE - BAUANLEITUNG - INSTRUCCIONES 
DE MONTAJE

Flangia Specifica per borse Tanklock - Specific Carrier for Tanklock bags
Brides spécifiques pour Tanklock bagagerie souple - Tankringen für tanklock Weichtaschen

Aro específico para bolsa Tanklock - Anel específico para bolsa Tanklock

MOUNT AROUND THE CABLE

18

18

18

15

3

3

3

3

E

F

G

19

19

19

19CUT OFF

3 3



©Copyright 11/09/2019LF-Rev00

BF46 - BF46K

7/8
ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 

INSTRUCTIONS DE MONTAGE - BAUANLEITUNG - INSTRUCCIONES 
DE MONTAJE

Flangia Specifica per borse Tanklock - Specific Carrier for Tanklock bags
Brides spécifiques pour Tanklock bagagerie souple - Tankringen für tanklock Weichtaschen

Aro específico para bolsa Tanklock - Anel específico para bolsa Tanklock

REMOVE

I

21

2121

21

H

21

21

21
21

REMOUNT



©Copyright 11/09/2019LF-Rev00

BF46 - BF46K

8/8
ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 

INSTRUCTIONS DE MONTAGE - BAUANLEITUNG - INSTRUCCIONES 
DE MONTAJE

Flangia Specifica per borse Tanklock - Specific Carrier for Tanklock bags
Brides spécifiques pour Tanklock bagagerie souple - Tankringen für tanklock Weichtaschen

Aro específico para bolsa Tanklock - Anel específico para bolsa Tanklock

M

1

2

6

6

6

6

20

L

1

4

5 4

5

9

9

9

9

1414

14 14


